Модуль 2.       Практическая часть №2.
 1.   Найти   
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а)   sin α, если cos α = -0,6       б)    cos  α,если sin α = 1/3

в)   tg  α, если cos  α = -15/17  г)     sin α, если  ctg α = -2
2.  Найти  значения тригонометрических функций угла α, если известно:
а) sin α = 3/5, 0 < α < π/2           б) cos α = 8/17,  π/2< α < π  

в) tg α = 
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, 0 < α < π/2           г) ctg α = -2,5  , 3π/2 < α < 2π  
3.  Упростить:

	1) 1 – cos2x  
	2) 2 – sin2x – cos2x

	3) (1 – sin2x)(1+sin2x)
	4) sinx ‧ ctg x

	5) 
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	7) 1 – sin2x – cos2x
	8) sin x + cos x‧tg x
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	10) ctg2x ( cos2x – 1 ) + 1

	11) ( sin x + cos x )2 + (sin y – cos y )2

	12) 
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	13) sin2x + cos2x + tg2x

	14) 
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	15) cos2x – (ctg2x + 1) sin2x 
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	19) 
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4. Доказать тождество: 
1) 
[image: image34.wmf]4

)

(

)

(

2

2

=

-

-

+

ctgx

tgx

ctgx

tgx


2) 
[image: image35.wmf]7

)

cos

2

)(

cos

2

(

)

sin

2

)(

sin

2

(

=

-

+

+

-

+

x

x

x

x


3) 
[image: image36.wmf]x

x

x

ctgx

sin

1

cos

1

sin

=

+

+


4) 
[image: image37.wmf]x

x

x

x

x

x

cos

sin

cos

sin

cos

sin

2

1

-

=

-

-


5) 
[image: image38.wmf]x

tg

x

x

2

2

2

1

cos

1

sin

1

=

-

-


6) 
[image: image39.wmf]x

x

x

x

2

2

4

4

cos

sin

cos

sin

-

=

-


7) 
[image: image40.wmf]x

tgx

ctgx

ctgx

2

cos

=

+


8) 
[image: image41.wmf]x

x

x

x

x

x

sin

cos

cos

sin

1

sin

cos

3

3

-

=

+

-


9) 
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10) 
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Домашняя   работа:
1. Доказать тождество:
а) 
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2. Упростить:
 а) 
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в) 
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